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21 | HEfA |SEt2E-1z 15 10 85 90| 85 4260
22 e+ |ZE-=8 25 0| 100/ 90| 90 *280
23 | regl |sgteE-=g 25 ol 100 65 90 255
24 | Al |HO|HEM-EF 25 0 a0 80| 100 4270
25 | 2482 |ZE-=2 22 3 90| 90| 100 %280
26 | 454 |28-d= 24 1] 65 100 80 245
7 HAH |HoIHEN-E=5 20 5 70| 75 90 235
28 | HEE |ESRE-IF 25 o| 70| 100/ 8O 250
29 ZEz |Ze-=5 25 0| 60| 70| 100 230
NIEEEREEEEENE, 24 1 70| 90| 70 230
31 =g |COIHEM-EZ 23 2 90| 70| 60 220
32 0/ |go|Hed - ng 25 0 550 100 60 215
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Private Sub cmdA A5 =_Click()
3t A4 A .Show
End Sub

CE 2718 ZEAA

Private Sub UserForm_Initialize( )
cmbs 735 RowSource = “J5:J13”
End Sub

Q@ FTF @3 75 FEst]
Private Sub cmd%%_Click()
A#H 3 = [B3].Row + [B3].CurrentRegion.Rows.Count
Cells(d8 38, 2) = txtd . Value
Cells(9d& 8, 3) = cmb72}+ . Value
Cells(d33Y, 4) = txtdX A Value
Cells(d3 3, 5) = txtlx}.Value
Cells(88l, 6) = txt2x}.Value
Cells(d3# 3, 7) = txt3x}.Value
Cells(d39 3, 8) = Int((Cells(} 3, 5) + Cells(d9 3, 6) + Cells(d=3, 7)) / 3)
End Sub
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Private Sub cmd@7”]_Click( )

MsgBox Time, , “&&87
Unload Me
End Sub
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